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<At p355.6x7.9t 1 67.7 X 7.7 521.290| 521.3
N—2 650x650x%25t 1 650 X 650 x 25 x 7850 x 107 82.916 82.9
7 250%x182x12t 8 250 X 182 x 12 x 7850 x 107 4.3 34.3
FrvS ¢355.6%3.2t 1 (355.6/2) X 3.14159 x 3.2 7850 x 107 2.495 2.5
J—hk 50x50x4.5 t 4 50 X 50 x 4.5 x 7850 10°° 0.0880 0.4
AL M8x25 4 0.014 0.014 0.1
L= 36 + 039 = 399
77— 190.7x5.3x3990 2 24.2 x 3.99 96.558 | 193.1
HiR—h (139.8x4.5x1610 2 15,0 x 1.61 24.150 48.3
7522 (p350x22t 4 (350-0/2)2 X 3.14159 X 22 7850 x 10°° 16.616 66.5
n )7 70x200x12t 16 70 X 200 x 12 x 7850 X 10°° 1.32 21.1
n )7 82x400x 12t 16 70 X 290 x 12 x 7850 X 10°° 1.91 30.6
n w b
n RN M24x140 (2Nx2W) 16 0.106 x 2 + 0.022 x 2 + 0.56 0.816 13.1
Aty (k) 300x457x12t 2 300 X 457 % 12 x 7850 X 10°° 12.92 25.8
HEyh(F) 300x300x12t 2 300 X 300 x 12 x 7850 X 10°° 8.48 17.0
FrvS ¢190.7x3.2t 4 (190.7/2) X 3.14159 x 3.2 7850 x 10 0.717 2.9
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7oh—=Fvh M33 16 0.280 0.280 4.5
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